EXEBLHOW BUT 08107080MA [snyl
Qlelnwin Isgjalezs [l
Izeyuow ¥ Auixod [z
198lyosnuuasy [s]

nzejuow efoynJisu| od]
olbbejuow |1 Jad 1woiznis| L]
alejuow ap sauo1ooNJSuU| [E]
Bulupajlenabeluoy [al
JebulusiauesBuLieuo [=]
abejuow ap suononnsu| ]
Bunjisjueabeluol [al
suononaisul buny (s3]
Buipis|pueyabeluoly O]

OV SOPUDY¥

<-0102 -OUBAO|\/I8)SeIN
ledQ/neusy

suononJisul Bui4

pue|yosinag

PIEM A BYIlY 62516
8 agelsuabingiaiqg
OV S[epueH "M'S



1000km

Couplingsclass: A50-X

G
G

T {
4 f
Approved

E11 55R-018382

lMax. vertical load :100 kgl

D-Value: 17,5 kN
bolt size Quality Quantity Spanner 2% M12 16x A12
0o | [T xm16 @ 2x A16
[ | i | |
- a
) | mizxao 10.9 10 19 i
M12x50 109 2 19 @ 2x 813 @ 12x 213
M12x55 8.8 4 19 S
M16x50 109 2 24 x -@ﬁl

80 fﬁ | M12x40(10.9)
5 A =
| 1 0
4 drh 1 \ 6

\F Q
) @"\‘ ‘ . C\ |II
3 ~ "
® !
RN

55
/] Miexso(iog) & s
"- =2 ) A
] =

M12x40(10.9)]

&
AN

© 553672/20-02-2012/13



Cut out
A |
Wl

Only for the MOVANO L\ \J

© 553672/20-02-2012/12

© 553672/20-02-2012/11



